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CHAPTER 5 TEST REVIEW (#2)

1) A person can drive at the age of 16.

a. Write an inequality to describe the age a person can drive. P b ‘ Lp

b. Graph the solution set to the inequality.
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2) A graph of the system i is shown below. Using the graph, estimate the solution.
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3) Sketch an example of a consistent and an inconsistent system.
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4) Solve the followmg system.
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5) Solve the following system,
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8) Solve the inequality and graph the solution set on a number line! A
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7) Craph the inequality y < —x+ 5 on the grid below.
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Identify two points that satisfy the inequality.

(0, 0)
(1, 1) O)




8) Solve the following system.
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2) Solve the follo mg system.
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10) Write an mequahty t\éat represents the shaded region below. @
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11) Tickets for a concert cost $20 for a single ticket or $35 for a couple’s ticket. Ticket sales
totaled $2280, and 128 people attended.

a. Define the variables in this situation.
S=6ingue
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b. Write a system of equations to represent this situation.
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¢. Solve the system to determine the number of single and couple tickets sold. Boﬂ‘om !
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12) An auto mechanic charges a flat service fee for each vehicle he repairs and an hourly rate
for labor. A three hour job costs $215. A one hour job costs $135.

O

a. Define the variables in this situation.

F=flat vate
H= hourl\ rate

b. Write a system of equations to represent this situation.

ZH+F= 215
IH + F = |55

c. Solve the system to determine the mechanic’s flat rate and his labor charge per
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13) Solve the following sys em
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14) Write an inequality that represents the shaded region below.
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Does the coordinate (2, 0) satisfy the inequality? VﬁS
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15) Graph the inequality y 2 —3x r O
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y= y x+2 . .
16) Graph the system and identify the solution.
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17) Graph the system of inequalities ys2x+
(vzv+\cxx\')
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18) Show the solution set on a number line.
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19) Show the solution set on a number line.
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20) Solve the following system.
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